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QUESTION 1

Click the Exhibit button.

Which well-known community needs to be used to restrict 10.0.0.0/8 from being advertised to AS 2?
A. no-publish

B. no-advertise

C. no-export-subconfed

D. no-export

Correct Answer: D

QUESTION 2

In a Layer 2 environment where 802.1X is deployed, which two statements are correct? (Choose two.)
A. RADIUS messages are exchanged between the supplicant and the authenticator.

B. RADIUS messages are exchanged between the authenticator and the authentication server.

C. Extensible Authentication Protocol messages are exchanged between the authenticator and the authentication
server.

D. Extensible Authentication Protocol messages are exchanged between the supplicant and the authenticator.

Correct Answer: BD
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QUESTION 3

What are two supported POE management modes? (Choose two.)
A. class

B. standalone

C. static

D. mixed

Correct Answer: AC

QUESTION 4

You are implementing a single spanning tree instance in your network and want to use the protocol that will give you the
best convergence time in the event of a physical network failure of the root bridge.

Which spanning tree protocol will satisfy this requirement?
A. RSTP

B. STP

C. MSTP

D. VSTP

Correct Answer: A

QUESTION 5

A BA classifier, input policer, and a multifield classifier are applied to an interface. In which order are these features
processed?

A. policer —andgt; BA classifier —andgt; multifield classifier
B. policer —andgt; multifield classifier —andgt; BA classifier
C. multifield classifier —andgt; BA classifier —andgt; policer
D. BA classifier —andgt; multifield classifier —andgt; policer

Correct Answer: A
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